TBREMADRAAR SHEABREBE
TR £ =i 2 ES 3 1TIRE £ =] E:] S =
FEAHT 1,503 745 758 628 SEFFRET 572 300 272 313
JUHT 2383 | 1,164 | 1219| 1,033 BT 257 122 135 100
FUZERT 626 279 347 309 = AR I BT 2,383 | 1,161 1,222 981
BRAHET 1,825 896 929 881 & |/KEHET 165 80 85 65
DIFT B 423 212 211 215 B |SREET 312 136 176 131
B |5 RET 1,799 937 862 839 i |RET 1,459 725 734 626
#H | EARET 1,136 583 553 512 B g5 711 352 359 326
# (= mEr 256 132 124 129 S s BT 294 137 157 118
B (m=mr 815 399 416 387 FeHET 824 379 445 409
A EHET 302 125 177 139 NG 492 236 256 244
REEE 152 76 76 63 B LR 2,931 1409 | 1522 | 1,213
TRET 84 35 49 57 E=3%:) 704 355 349 367
BXAES 121 50 71 61 4 [ ET 317 151 166 133
ekl 513 201 312 238 LSRR T 1,298 631 667 601
ES:) 1,392 671 721 651 % Faor FLHET 284 134 150 112
i | A SAEET 3377 | 1635| 1742| 1,496 X |\LERET 189 91 98 83
i |hRx 3765| 1,803 | 1962 | 1,655 R EHE 1,494 693 801 637
| 5 AT 1,035 459 576 468 EHET 1,458 716 742 586
B |y 3133 | 1535 | 1598 | 1,392 ILAHET 553 253 300 242
H ST 331 162 169 154 —ARRX 484 224 260 204
HACHTET 318 158 160 138 IEHET 528 248 280 212
A4 _E#T 145 75 70 58 PN g2k TG ) 181 131 50 121
B | o1 BT 1659 | 830| 829| 794 A T=P P 900 | 443 | 457 | 295
g HANETEER 119 54 65 57 £ AT 3262 | 1648 | 1614| 1510
X [BHRKXEHE 595 289 306 282 7 #THET 343 188 155 240
H X ARET 1,353 681 672 584 + EHFTET 166 82 84 73
FiS=1:l) 556 265 291 218 i‘i T 2285 | 1,090 | 1,195 963
0 gk FH T 841 371 470 359 X |AiTEET 271 114 157 130
EIEE 107 43 64 44 75 T 912 442 470 376
f( iiiladiin) 238 107 131 104 E 1)) 943 461 482 410
E RENEERERK 3282 | 1577| 1,705| 1,297 HESUHET 1,301 629 672 407
i [FREAEFRRK [ 2578 | 1279 | 1,299 910 T ErHET 501 236 265 240
E |iENERER 1,153 561 592 396 =EfT 280 133 147 112
BT 1,347 642 705 561 BEEEAS 161 81 80 73
EAHHET 2110 | 1,021 1,089 920
# [BEHE 1,496 742 754 672 RAMREATHRIEREARGLHIEAHHN T, ARFEIC
E | HEMt 374 183 191 161 EENHYET,
M |47 A% BT 394 191 203 158
B |y 49 24 25 25
R FHET 446 189 257 247
WX 273 126 147 118




